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1.  (A) Explain various types of industries. 14
OR
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What is cottage and small industries ? Explain limitations of cottage and small
industries in India.

MCQ. : 4
(1) The industries are classified in types.
(A) four (B) three
(2) In India contribution of industrial sector in national Income is than
that of the service sector.
(A) more (B) less
(3) Investment limit for small scale unit is
(A) 3 crore (B) 2 crore
(4) Classify the cement industry.
(A) Basic industries (B) Labour intensive
Evaluate performance of public sector in India. 14
OR
Explain the importance of agriculture sector in Indian economy.
MCQ. : 4
(1) is the public sector enterprise.
(A) TATA (B) ONGC
(2) Private sector in the India employed people than the public sector.
(A) more (B) less
(3) The number of public sector unit in 2010 in India was_
(A) 149 (B) 249
(4) The Indian Farmers are not getting proper reward.
(A) True (B) False
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Give the nature of unemployment and discuss the types of unemployment.
OR

Discuss the Government policy for reducing unemployment in india.

True or False :

(1) The unemployment problem is a Economic problem.

(2) The form of unemployment can be known in four types.

(3) Division of Labour creates problem of unemployment.

Explain the concept of poverty line and discuss the causes of poverty.
OR
Discuss the government policy for removing poverty.
True or False :
(1) Lord Byodore presented the concept of poverty line for the first time.
(2) In India has only Relative poverty.
(3) Iliteracy is indicator of poverty.
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Explain various types of industries. 14
OR

What is cottage and small industries ? Explain limitations of cottage and Small
industries in India.

MCQ. : 4
(1) s the parent organization for small scale industries.
(A) IDBI (B) RBI
(2) Private sector in the India employed people than the public Sector.
(A) more (B) less
(3) Investment limit for small scale unit is
(A) 3 crore (B) 2 crore
(4) Classify the cement industry.
(A) Basic industries (B) Labour intensive
What is public sector ? Give limitations of public sector in India. 14
OR
Explain the importance of agriculture sector in Indian economy.
MCQ. : 4
(1) is the public sector enterprise
(A) Reliance (B) ONGC
(2) In India sector enterprises have contributed important share to
establish social justice.
(A) public (B) private
(3) The number of public sector unit in 1951 in India was
(A) 5 (B) 10
(4) The Indian Farmers are not getting proper reward.
(A) True (B) False
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Give the importance and progress of Road Transport in India.
OR
Give the importance and progress of Communication in India.
True or False :
(1) Indian railway is an unit of joint sector.
(2) Tata Motors is public sector venture.
(3) The management of the main ports of India is done by state government.

Explain the meaning of Unorganized sector and discuss its importance.
OR

Discuss the steps taken by Government to solve the problems of Unorganized
Sector.

True or False :

(1) Unorganized Worker means domestic worker.

(2) The bargaining power of labourers is very strong in Unorganized sectors.
(3) Minimum Wages Act in India was formed in 1948.
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